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Multiple Choice
Identify the choice that best completes the statement or answers the question.

	
	1. 
	What is the multiplicative inverse of ½?

	a.
	-2
	c.
	[image: mc001-2.jpg]

	b.
	[image: mc001-1.jpg]
	d.
	2




	
	2. 
	What is the solution for this equation?
[image: mc002-1.jpg]
	a.
	[image: mc002-2.jpg]
	c.
	[image: mc002-4.jpg]

	b.
	[image: mc002-3.jpg]
	d.
	[image: mc002-5.jpg]




	
	3. 
	What is the solution set of the inequality?
[image: mc003-1.jpg]

	a.
	[image: mc003-2.jpg]
	c.
	[image: mc003-4.jpg]

	b.
	[image: mc003-3.jpg]
	d.
	[image: mc003-5.jpg]




	
	4. 
	Which equation is equivalent to the following equation? 
[image: mc004-1.jpg]
	a.
	[image: mc004-2.jpg]
	c.
	[image: mc004-4.jpg]

	b.
	[image: mc004-3.jpg]
	d.
	[image: mc004-5.jpg]




	
	5. 
	Which equation is equivalent to the following equation?
[image: mc005-1.jpg]
	a.
	[image: mc005-2.jpg]
	c.
	[image: mc005-4.jpg]

	b.
	[image: mc005-3.jpg]
	d.
	[image: mc005-5.jpg]




	
	6. 
	The total cost (c) in dollars of renting a sailboat for n days is given by the equation 

[image: mc006-1.jpg]

If the total cost was $360, for how many days was the sailboat rented?
	a.
	2
	c.
	6

	b.
	4
	d.
	8




	
	7. 
	Solve: [image: mc007-1.jpg]

Step 1: [image: mc007-2.jpg]
Step 2: [image: mc007-3.jpg]
Step 3: [image: mc007-4.jpg]
Step 4: [image: mc007-5.jpg]

Which is the first incorrect step in the solution shown above?
	a.
	Step 1
	c.
	Step 3

	b.
	Step 2
	d.
	Step 4




	
	8. 
	
A 120-foot-long rope is cut into 3 pieces. The first piece of rope is twice as long as the second piece of rope. The third piece of rope is three times as long as the second piece of rope. What is the length of the longest piece of rope?

	a.
	20 feet
	c.
	60 feet

	b.
	40 feet
	d.
	80 feet




	
	9. 
	
The cost to rent a construction crane is $750 per day plus $250 per hour for use. What is the maximum number of hours the crane can be used each day if the rental cost is not to exceed $2500 per day?

	a.
	2.5
	c.
	7.0

	b.
	3.7
	d.
	13.0




	
	10. 
	
1. What is the solution to the inequality?
[image: mc010-1.jpg]
	a.
	[image: mc010-2.jpg]
	c.
	[image: mc010-4.jpg]

	b.
	[image: mc010-3.jpg]
	d.
	[image: mc010-5.jpg]




	
	11. 
	
The lengths of the sides of a triangle are y, y + 1, and 7 centimeters. If the perimeter is 56 centimeters, what is the value of y?
	a.
	24
	c.
	31

	b.
	25
	d.
	25




	
	12. 
	
Which number serves as a counterexample to this statement below?
All positive integers are divisible by 2 or 3.

	a.
	100
	c.
	30

	b.
	57
	d.
	25




	
	13. 
	
What is the conclusion of the statement in the box below?
If [image: mc013-1.jpg], then [image: mc013-2.jpg].


	a.
	[image: mc013-3.jpg]
	c.
	[image: mc013-5.jpg]

	b.
	[image: mc013-4.jpg]
	d.
	[image: mc013-6.jpg]




	
	14. 
	
Which of the following is a valid conclusion to the statement “If a student is a high school band member, then the student is a good musician”?

	a.
	All good musicians are high school band members.
	c.
	All students are good musicians.

	b.
	A student is a high school band member.
	d.
	All high school band members are good musicians.




	
	15. 
	
The chart below shows an expression evaluated for hour different values of x.
	x
	[image: mc015-1.jpg]

	1
	7

	2
	11

	6
	47

	7
	61

	
	




Josiah concluded that for all positive values of x, [image: mc015-2.jpg]produces a prime number. Which value of x serves as a counterexample to prove Josiah’s conclusion false?
	a.
	5
	c.
	16

	b.
	11
	d.
	21




	
	16. 
	
John’s solution to an equation is shown below.

Given: [image: mc016-1.jpg]
Step 1: [image: mc016-2.jpg]
Step 2: [image: mc016-3.jpg]
Step 3: [image: mc016-4.jpg]

Which property of real numbers did John use for Step 2?
	a.
	Multiplication Property of Equality
	c.
	Commutative Property of Multiplication

	b.
	Zero Product Property of Multiplication
	d.
	Distributive Property of Multiplication over Addition




	
	17. 
	
Stan’s solution to an equation is shown below.
Given: [image: mc017-1.jpg]
Step 1: [image: mc017-2.jpg]
Step 2: [image: mc017-3.jpg]
Step 3: [image: mc017-4.jpg]
Step 4: [image: mc017-5.jpg]
Step 5: [image: mc017-6.jpg]
Step 6: [image: mc017-7.jpg]

Which statement about Stan’s solution is true?
	a.
	Stan’s solution is correct.
	c.
	Stan made a mistake in Step 3.

	b.
	Stan made a mistake in Step 1.
	d.
	Stan made a mistake in Step 5.




	
	18. 
	
When is this statement true?
The opposite of a number is less than the original number.

	a.
	This statement in never true.
	c.
	This statement is true for positive numbers.

	b.
	This statement is always true.
	d.
	This statement is true for negative numbers.




	
	19. 
	
What is the y-intercept of the graph of
[image: mc019-1.jpg]?
	a.
	– 4 
	c.
	6

	b.
	– 2
	d.
	12




	
	20. 
	
Which inequality is shown on the graph below?

[image: mc020-1.jpg]

	a.
	[image: mc020-2.jpg]
	c.
	[image: mc020-4.jpg]

	b.
	[image: mc020-3.jpg]
	d.
	[image: mc020-5.jpg]




	
	21. 
	
Which inequality does the shaded region of the graph represent?

[image: mc021-1.jpg]



	a.
	[image: mc021-2.jpg]
	c.
	[image: mc021-4.jpg]

	b.
	[image: mc021-3.jpg]
	d.
	[image: mc021-5.jpg]




	
	22. 
	
Which best represents the graph of
[image: mc022-1.jpg]?

	a.
	[image: mc022-2.jpg]
	c.
	[image: mc022-4.jpg]

	b.
	[image: mc022-3.jpg]
	d.
	[image: mc022-5.jpg]




	
	23. 
	
Which equation best represents the graph below?

[image: mc023-1.jpg]
	a.
	[image: mc023-2.jpg]
	c.
	[image: mc023-4.jpg]

	b.
	[image: mc023-3.jpg]
	d.
	[image: mc023-5.jpg]




	
	24. 
	
Which point lies on the line defined by the equation?
[image: mc024-1.jpg]
	a.
	(0, 2)
	c.
	[image: mc024-2.jpg]

	b.
	(0, 6)
	d.
	[image: mc024-3.jpg]




	
	25. 
	
What is the equation of the line that has a slope of 4 and passes through the point (3, -10)?
	a.
	[image: mc025-1.jpg]
	c.
	[image: mc025-3.jpg]

	b.
	[image: mc025-2.jpg]
	d.
	[image: mc025-4.jpg]







	

	[image: Start Over]


Bottom of Form

image4.wmf


conflittia@hasdk1


image62.jpeg




image63.jpeg
x+2=0o0rx+3=0




image64.jpeg
x=-2o0rx=





image65.jpeg
n + 8(n + 20)





image66.jpeg




image67.jpeg




image68.jpeg




image69.jpeg




image70.jpeg




image71.jpeg




image72.jpeg
4x + 2y = 12




image73.jpeg




image74.jpeg




image75.jpeg




image76.jpeg




image77.jpeg




image5.wmf


f


image78.jpeg




image79.jpeg
3x+y=2




image80.jpeg
3x+y=<-2




image81.jpeg
3x+y=2




image82.jpeg
3x+y=-2




image83.jpeg




image84.jpeg




image85.jpeg




image86.jpeg




image87.jpeg




image88.jpeg




image89.jpeg




image90.jpeg
y =x+2




image91.jpeg




image92.jpeg
y=2x+2




image93.jpeg
3x + 6y =2




image6.wmf


f


image94.jpeg




image95.jpeg




image96.jpeg
y =4x—22




image97.jpeg
y =4x—43




image98.jpeg
y =4x+22




image99.jpeg
y =4x+43




image100.wmf

image101.gif




image7.wmf


F


image8.wmf


Keystone Algebra


image9.wmf


Other


image10.wmf


0


image11.wmf


0


image12.wmf


0


image13.wmf


0


image14.wmf


0


image15.wmf



image16.wmf


1


image17.wmf



image18.wmf



image1.wmf


6.1.0


image19.wmf



image20.wmf



image21.jpeg




image22.jpeg




image23.jpeg




image24.jpeg
x=—4orx=4




image25.jpeg
x=—1orx=4




image26.jpeg
x=—4orx=





image27.jpeg
x=—1lorx=





image28.jpeg
bl 53




image29.jpeg




image30.jpeg
el F 2ok B




image31.jpeg
x<—-2orx=6




image32.jpeg
ES12 or x4




image33.jpeg
.o B0 AN

14x




image2.wmf


flitti


image34.jpeg




image35.jpeg




image36.jpeg




image37.jpeg
12x —1=14x




image38.jpeg
42 -5

6 —3(1-3x)




image39.jpeg




image40.jpeg
29x





image41.jpeg




image42.jpeg
29x





image43.jpeg
120 + 60n





image44.jpeg
3(x+5) =2x +35




image45.jpeg
3x +15=2x +35




image46.jpeg




image47.jpeg




image48.jpeg




image3.wmf


Ann Conflitti


image49.jpeg
Ee g L




image50.jpeg
x>




image51.jpeg
x> 19




image52.jpeg
<9




image53.jpeg
x <19




image54.jpeg




image55.jpeg
x=-2orx=





image56.jpeg




image57.jpeg




image58.jpeg
x=—2orx=2




image59.jpeg
x2+x+5




image60.jpeg
R ES




image61.jpeg
e EA=0




